[image: image1.png]600
500
400

200
100

Price Paid ($)

L3 XX 3

50 100 150 200 250




.     Outliers (A)    .
Outliers: How do I handle them?



Integral part of data set?



Mis-recorded or wrongly included?

	Weight (kg)
	Price Paid ($)

	120
	277

	75
	277

	126
	281

	105
	277

	116
	281

	220
	530

	88
	290

	92
	277

	71
	281

	83
	286

	89
	264


Including Outlier

r = 0.893308
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Further information needed








R = 0.89  strong positive 








Association (sensible?)








No outlier = - 0.34 weak 









negative association


Excluding Outlier 
r = - 0.3419


















= Lack of 

Auckland Sydney air ticket price







Resistance

for 10 passengers of different 

weights

.     Outliers (B)    .
An Outlier is a data point significantly far from the trend or group of other data.

Is the outlier an error? ( remove it

Is the outlier an actual data value? ( produce TWO regression models




1) With outlier




2) Without outlier: is there significant variation

Is it appropriate to remove outlier?

Do NOT remove outlier just to make model fit better! (increase R2)

Discuss what the outlier could be and if it is appropriate to remove or not.

Discuss Groups – is there a reason for groupings or is it just a result of the sampling process?




















































































































































































































































































































































